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[image: ][image: ]I predict that there will be no correlation between the height of the students and the amount of candies in their bags. There is nothing to relate these two data values. The explanatory variable is the students’ heights and the response variable is the total number of candies. 

This is what I expected, there is no correlation between height and the number of candies in each student’s bag of Skittles. The equation is y= 50.713668 + 0.1287705x with r squared equaling 0.029046. The correlation coefficient is not greater than .05, so there is no significant correlation.
If we added the other value, this chart suggests that the number of candies would be 58.8906. It was appropriate to use this regression equation for this production because the height was in the scope of the other students’ heights. It would not be appropriate to include Yao Ming’s height in this because his height is outside of the range given.
[bookmark: _GoBack]With the smaller data set the equation is y=.275862069x+51.62068966.
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Height and Candies Regression Line
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